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Quarter 1 review
Simplify.
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Find the sum or difference.
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Solve the equation for x. Simplify. ; ~
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Which 2 points are conjugates?
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Identify the domain and range of the given relation. Then represent the relation using a graph and a mapping
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Graph the following equations and state the domain and range.
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33. Graph and write the equation of the line through the points (0, 0) and (-2,-8).
What is the domain, range and x and y intercepts of the line?
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Write the equation of the lines that are parallel and perpendicular to the above equation that goes through
the point (-5, 4).
Graph the 2 lines.
What is the domain, range and x and y intercepts of the 2 lines?
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